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*EXINSTRUTIONS***
Calculators not allowed.
Logarithm table is not to be used.
4 marks will be awarded for each correct answer and 1 mark will be deducted for each wrong
answer.
(E)***indicates “none of the above”.

20162014 + 8 x 20162016 =
A. 20162016  B. 20162018 C. 20162022° D. 20162028> E. %

FINERAGHRES T SAANELEEH LBERFLTHA, x By HF. HTHEE
H g ARA 2016, K| x— y| 2k,

A teacher wrote six consecutive integers on the white board. He then erased two of them, says

x and y. The product of the remaining four integers is 2016. Find the value of | xX—y | .

Al B. 2 C. 3 D. 4 E. otk

EHANEEKGFHHA 10, FLAKH 8, T M T X T ANEEKY FXG5H, £
M &) 5% K48

Ten positive integers have a mean of 10 and median of 8. It is known that M is the largest
number among these ten positive integers; find the largest possible value of M.

A. 26 B. 27 C. 40 D. 56 E. otk

RAEfE — TR L G HAD G 69 S0, Rt A 5 TIRE SN S8 (A8 5 h
), TSGR A ALK TH, BEE, tfeiX 4 KT A B F A S
Fo, 133|695 4942, RAEE ) T K.

Ming Hua wrote his mother’s age on a paper, then he wrote his father’s age (to the right of his

mother’s age) to form a 4-digit number. After that he added this 4-digit number with the sum
of his parents’ age, and obtained 4942. Find his father’s age.

A. 47 B. 48 C. 49 D. .50 E. otk



K— =k HAX2x*-1008x+2015=0, =42 F¥H1h.
Find the average of the roots for the quadratic equation 2x”—1008x+2015=0.
A. 252 B. 503.75 C. 504 D. 1007.5 E. #%%*

log 5 \lle/l— =

A. 8 B.

C. 3 D. 2 E. otk
5 2

SSHIEN

B4 n!=1x2x3x---xn , K 2016+2017! 1L 2018 &) &3
Given that n!=1x2x3x---xn , find the remainder when 2016+2017! is divided by 2018.
A. 0 B. 1009 C. 2016 D. 2017 E. *%*

€4 4k a % 2[2016 — a|+a-2017 =a, Ka-2016> 24k,
Given that the real a satisfy |2016 — a|+ v'a — 2017 = a , find the value of a — 2016°.

A. 2015 B. 2016 C. 2017 D. 2018 E. ok

1
2 x*+7x-1=0, z]‘ix2+—2 Z At
X

If x> +7x—1=0, find the value of x2 +L2.
x

A. 47 B. 49 C. 51 D. 54 E.

Ehnals bR, A% rikRlla’—ab+210=0 ?
Given that a and b are prime numbers, how many (a,b)satisfy 17a° —ab+210=0.

Al B. 2 C.3 D. 4 E. ok

*4+log35+4+6log53 248,
2+log,5 1+2log,3

4+10g35+4+610g53
2+log,5 1+2log,3

Find the value of

A. 4 B. 4.2 C. 45 D. 5 E. ##x



12.

13.

14.

15.

16.

9

Zx>10, Kdx+ 89 FRME o
x—10
If x>10, find the minimum value of 4x+ 0
x_
A. 51 B. 52 C. 525 D. 53 E. ®%*

Z1+243+4+---+n=2016, VL TFRIE#H?
If 1+24+3+4+4---+n=2016, which of the following statements correct?
L n>70
I nAFH
n is an odd number.
L n529 84E 4.
n is a multiple of 9.

A. LII III B. II C. 1II D. IL III E.

(x+y)y+2 = 70
Zx9,2>0 R (y+2)(z+x) = 40, K2(x+y+z) XAk,
(z+x)(x+y) = 28
x+y)(y+z) = 70
If x,y,z>0and < (y+z)(z+x) = 40, find the value of 2(x+y+7).
(z+x)(x+y) = 28
A. 19 B. 20 C. 21 D. 23 E.

X P wmamea kA 7R 11, WPATmAHRENGITAERRKES 12, REKGT
Y. 3

A parallelogram has sides measuring 7 and 11. Its shorter diagonal has a length of 12. Find
the measure of the longer diagonal.

A. 13 B. 14 C. 15 D. 16 E.

EnREEY, KA Aty ENFHZ o, EnRLFH, An)=0., ] A2016)=1,
A(3578) =3+5+7=15 % A(2886) =0, £ A()+AQ)+AQB)+---+A100) Z A4,

For each positive integer n, let A(n) be the sum of odd digits in n. Let A(n) be 0 if there is no
odd digit. Example A(2016) =1, A(3578)=3+5+4+7=15 and A(2886)=0. Find the value of
AD)+AQR)+AB3)+---+A(100) .

A. 400 B. 420 C. 500 D. 501 E.

4



17.

18.

19.

20.

21.

— 45, MFA, M FBRAFCENPHKEZILALE0, XK= T HHKE )T
2000 FAAX AR FRERET2IH. AAEHTFA, HFBRAFCENHHHKETZIL
A3:2:3, ARLFAFA—TF4HILAFH?

At first, the numbers of books in box A, box B and box C was in the ratio 8:9:10. The total
number of books in these three boxes was less than 200. Mr. Lee took a total of 21 books

from these three boxes. Now the numbers of books in box A, box B and box C are in the ratio
3:2:3. How many books were in box A at first?

A. 40 B. 48 C. 56 D. 64 E.

2645 abcdef 5 % — AN6AE 3 defabe Z 1t 42:11, K abe 89 M

If the ratio of the 6-digit number abcdef to the other 6-digit number defabcis 2:11, find the
smallest possible value of abc.

A. 102 B. 103 C. 104 D. 105 E.

.40 3% =3486N84401 2 — A 1045 548, N RILd —/~EFE, £ N2h,

Given that 3% =3486N84401 is a 10-digit number where N is one of the digit, find the value
of N.

AT B. 6 C.5 D. 4 E. ok

£ 23— 87 423487 2k

Find the value of \/23—8\/7 +\/23+8\/7.
A. 7 B. 8 C. 9 D. 10 E. *%*

LA S, R S D R4 54 R60 &2
()27 EAPRT, AT RO60 . )
How many times in 12 hours the minute and hour hands

make a 60 degree?
(Example: they form 60 degrees at 2 o’clock)

A. 20 B. 22 C. 23
D. 24 E.




22.

23.

24.

25.

26.

27.

Chn it x Ay BRSO3 KAy 2.

Xy
Given that x and y are integers that satisfy 2.6 =3, find the sum of possible value of y.
Xy
A, —12 B. -3 C. 0 D. 3 E. *%*

VAR — R 2 x' +64 89/ F2
Which of the following is a factor of x*+64?

Al x+2 B. x*+8 C. x*+4x+8 D.x*+4x-8 E. s

X

X

X
Given that f(x) =————, find the value of f(f(f(1))).
NIESS
A L B. L c 1 D. L .
2 3 4 5

B—nAF, ENAFADAHI05°, BT REMNAEIOE®, Kn Ml

In a n-sided polygon, the smallest interior angle is 105°, then it increase 6° for each angle,

find the value of n.

A5 B. 6 C. 7 D. 8 E.

4B 1, KZLBCD,

As shown in Figure 1, find ZBCD.

A. 150° B. 148° C. 145° A
D. 140° E. #¥% A1

Figure 1
JoE 2, ABCD % — AN\ A 40N EFH. S ERFZ D £ ¢
%A CD % DA 8 F 5. & G &£ EB1£33BG=GE., K
%<8 2 89 @ AR ‘ G
As shown in Figure 2, ABCD is a square of area 480. E and F

midpoint of CD and DA respectively, G on EB where 52

3BG = GE . Find the area of shade region. Figure 2

A. 95 B. 100 C. 105 D. 110 |

—6—



28.

29.

30.

31.

32.

33.

A3, EHFHABCD# ¥ 441, NiEEH5HEFGH D G
8K 429, C4m AE<EB, RAEWKE

As shown in Figure 3, ABCD is a square of side length F
41, while the inscribed square EFGH is of side length 29.
Given that AE < EB , find the length of AE. A £

A. 20 B. 21 C. 22 B3
D. 24 E. #kk Figure 3

B4, ZABRZECDHMEZEA, X5 5E, T4 C
AB=56, ED=3 % EC=93, £izRt ¥4z,

As shown in Figure 4, chord AB is perpendicular to chord
CD, the intersection point is E. Given that AB=56, A
ED =3and EC =93, find the radius of this circle. D

A. 51 B. 53 C. 55 A 4
D. 57 E. ek Figure 4

Z2x+3y—-4=0, N4"x8 =
If 2x+3y—4=0, then 4*x8" =
A. 4 B. 8 C. 16 D. 32 E. ek

H % VR 6 EEHKE (x,y) 4238 Tx+5y=2016?
How many ordered pairs of positive integers (x, y) are there such that 7x+5y=2016?

A. 55 B. 56 C. 57 D. 58 E.

Za*+b*=25, *+d*=4%ac-bd=8 , Xad+bc % Efh,

If a*>+b>=25, ¢’ +d’ =4and ac—bd =8, find the positive value of ad +bc .

A. S B. 6 C. 7 D. 8 E. k%

Ekryth R y=a(x—2) +3x 93P, Ka i,
Given that y-axis is the symmetry axis of the graph y =a(x— 2)2 +3x, find the value of a.

A2 B. c 2 D. > E. ven
3 4 3 2



2.4 ABCDEX9=EDCBA, K C Z {4,

34.
Given that ABCDE X9 = EDCBA , find the value of C.
A. 9 B. 8 C. 7 D. 6
35. 1 _
1 1 1 1
- - +—
10x11 11x12 12x13 13
A. 10 B. 11 C. 12 D. 13

kg

eksk



